

## ON STRONG $(E, q)$ $(C, 1)$ SUMMABILITY OF DERIVED FOURIER SERIES

By

V.N. Tripathi and A.K. Yadav

Department of Mathematics

S.B. Postgraduate College Baragan,   
 Varanasi 221005, Uttar Pradesh, India

(Received : June 1, 2005; Revised : December 15, 2005)

### ABSTRACT

In the present paper, we discuss strong  $(E, q)(C, 1)$  summability of derived Fourier series under general condition which improves the result due to Bhatia and Sachan (2002) on strong  $(E, 1)(C, 1)$  summability of Fourier series under certain condition.

**2000 Mathematics Subject Classification :** Primary 42B08, Secondary 42A24.

**Keywords :** Strong  $(E, q)$   $(C, 1)$  Summability, Derived Fourier Series.

**1. Introduction.** 1. An infinite series  $\sum u_n$  with the sequence  $\{S_n\}$  of its partial sums is said to be summable  $(C, 1)$  to fixed and finite sum  $S$  if the sequence-to-sequence transformation

$$(1.1) \quad C_n^1 = \frac{1}{n+1} \sum_{m=0}^n s_m$$

tends to  $S$  as  $n \rightarrow \infty$  (Titchmarsh [4], p.411).

The  $n^{\text{th}}$   $(E, q)$  mean,  $(q > 0)$  of the sequence  $\{S_n\}$  of partial sums of the series  $\sum u_n$  is given by

$$(1.2) \quad E_n^q = \frac{1}{(q+1)^n} \sum_{k=0}^n \binom{n}{k} q^{n-k} S_k.$$

If  $E_n^q \rightarrow S$ , as  $n \rightarrow \infty$ ,

then the series  $\sum u_n$  or the sequence  $\{S_n\}$  of its partial sums is said to be summable  $(E, q)$  to the sum  $S$ . [Hardy [2]p.180].

Now, super imposing  $(E, q)$  summability on the  $(C, 1)$  means of the series  $\sum u_n$ , we get  $(E, q)(C, 1)$  summability method. The  $n^{\text{th}}$   $(E, q)$   $(C, 1)$  mean  $(EqC)_n^1$  of the sequence  $\{S_n\}$  of partial sums of the series  $\sum u_n$  with the sequence  $\{C_n^1\}$  of its  $(C, 1)$  mean is defined by the sequence-to-sequence transformation

$$(1.3) \quad (EqC)_n^1 = \frac{1}{(q+1)^n} \sum_{k=0}^n \binom{n}{k} q^{n-k} C_k^1.$$

Following the definition of strong  $(C,1)$  summability given by Hardy and Littlewood (3) we define that the series  $\sum u_n$  or the sequence  $\{S_n\}$  of its partial sums is strongly summable  $(E,q)$   $(C,1)$  to the sum  $S$  if

$$(1.4) \quad \sum_{k=0}^n \binom{n}{k} q^{n-k} |C_k^1 - S| = o[(q+1)^n], \text{ as } n \rightarrow \infty.$$

The Fourier series of a  $2\pi$  periodic and Lebesgue integrable functions  $f(t)$  in the interval  $(-\pi, \pi)$  is given by

$$(1.5) \quad f(t) \sim \frac{1}{2} a_0 + \sum_{n=1}^{\infty} a_n \cos nt + b_n \sin nt = \sum_{n=0}^{\infty} A_n(t).$$

The series

$$(1.6) \quad \sum_{n=1}^{\infty} n(b_n \cos nt - a_n \sin nt) = \sum_{n=0}^{\infty} nB_n(t),$$

which is obtained on differentiating term by term the series (1.5) with respect to  $t$  is known as the derived series of the Fourier series (1.5) of the function  $f(t)$ , where,

$$(1.7) \quad \sum_{n=1}^{\infty} (b_n \cos nt - a_n \sin nt) = \sum_{n=0}^{\infty} B_n(t)$$

is called as the conjugate series of (1.5).

We write at a point  $t=x$ ,

$$\phi(t) = f(x+t) + f(x-t) - 2f(x),$$

$$g(t) = f(x+t) - f(x-t) - 2tf'(x),$$

$$\Phi(t) = \int_0^t |\phi(u)| du$$

and

$$G(t) = \int_0^t |dg(u)|$$

where  $f'(x)$  denotes the first derivative of  $f(t)$  at any point  $t=x$  in  $(-\pi, \pi)$ .

Bhatia and Schan [1] have studied strong  $(E,1)$   $(C,1)$  summability of Fourier series (1.5) by proving the following :

**Theorem A.** If  $f(x)$  is integrable  $(L)$  and

$$(1.8) \quad \Phi(t) = \int_0^t |\phi(u)| du = o(t) \text{ as } t \rightarrow 0,$$

then the Fourier series (1.5) of the function  $f(t)$  is strongly summable  $(E, 1)(C, 1)$  to the sum  $f(x)$  at a point  $t=x$  in  $(-\pi, \pi)$ .

Here in the present paper, we consider strong  $(E, q)(C, 1)$  summability,  $q > 0$ , and discuss strong  $(E, q)(C, 1)$  summability of the derived series (1.6) of the Fourier series (1.5) of the function  $f(t)$  at a point  $t=x$  under general condition in place of (1.8) by establishing the following :

**Theorem.** Let  $\{p_n\}$  be a non-negative monotonic, non-increasing sequence of constants such that its non-vanishing  $n^{\text{th}}$  partial sum  $P_n$  tends to infinity as  $n \rightarrow \infty$ . Let  $\alpha(t)$  and  $\beta(t)$ , be any two positive functions of  $t$  such that  $\alpha(t)$ ,  $\beta(t)$  and  $t\alpha(t)/\beta(t)$  increase monotonically with  $t$  and

$$(1.9) \quad \alpha(n) \log n = o[\beta(p_n)] \text{ as } n \rightarrow \infty.$$

If

$$(1.10) \quad G(t) = \int_0^t |dg(u)| = O[t\alpha(1/t)/\beta(P_t)] \text{ as } t \rightarrow \infty,$$

then the derived series (1.6) of the Fourier series (1.5) of the function  $f(t)$  is strongly summable  $(E, q)(C, 1)$  to the sum  $f(x)$  at a point  $t=x$  in  $(-\pi, \pi)$ .

**2. Lemmas.** The following lemmas are needed in order to prove our main theorem :

**Lemma 1.** For  $0 \leq t < 1/n$ ,

$$\sum_{k=1}^n \binom{n}{k} q^{n-k} \left| \frac{\sin^2(kt/2)}{kt^2} \right| = o[n(q+1)^n].$$

**Proof.** We have for  $0 \leq t \leq 1/n$ ,

$$\begin{aligned} & \sum_{k=1}^n \binom{n}{k} q^{n-k} \left| \frac{\sin^2(kt/2)}{kt^2} \right| \\ & \leq \sum_{k=1}^n \binom{n}{k} q^{n-k} o(k) \\ & = o(n) \sum_{k=1}^n \binom{n}{k} q^{n-k} = o[n(q+1)^n]. \end{aligned}$$

**Lemma 2.** For  $t > 1/n$ ,

$$\sum_{k=1}^n \binom{n}{k} q^{n-k} \left| \frac{\sin^2(kt/2)}{kt^2} \right| = o \left[ \frac{(q+1)^n}{nt^2} \right].$$

**Proof.** Hence for  $t > 1/n$ ,

$$\sum_{k=1}^n \binom{n}{k} q^{n-k} \left| \frac{\sin^2(kt/2)}{kt^2} \right| = o \left( \frac{1}{nt^2} \right) \sum_{k=1}^n \binom{n}{k} q^{n-k} = o \left[ \frac{(q+1)^n}{nt^2} \right].$$

### 3. Proof of the Main Theorem.

Denoting by  $\sigma_n(x)$  the sum of the first  $n$  terms of the series (1.6) at a point  $t=x$ , we get

$$\begin{aligned} \sigma_n(x) &= \frac{1}{2\pi} \int_0^{2\pi} \left[ \frac{d}{dx} \left\{ \frac{\sin(n+1/2)(x-u)}{\sin(x-u)/2} \right\} \right] f(u) du \\ &= \frac{-1}{2\pi} \int_0^{2\pi} f(u) \left[ \frac{d}{du} \left\{ \frac{\sin(n+1/2)(x-u)}{\sin(x-u)/2} \right\} \right] du \\ &= \frac{-1}{2\pi} \int_0^\pi \{f(x+t) - f(x-t)\} \left[ \frac{d}{dt} \left\{ \frac{\sin(n+1/2)t}{\sin t/2} \right\} \right] dt \\ &= \frac{1}{2\pi} \int_0^\pi \frac{\sin(n+1/2)t}{\sin t/2} d\{f(x+t) - f(x-t)\} \\ &= \frac{1}{2\pi} \int_0^\pi \frac{\sin(n+1/2)t}{\sin t/2} dg(t) + f'(x). \end{aligned}$$

Therefore,

$$(3.1) \quad \sigma_n(x) - f'(x) = \frac{1}{2\pi} \int_0^\pi \frac{\sin(n+1/2)t}{\sin t/2} dg(t)$$

The  $n^{\text{th}}$   $(C, 1)$  mean of the sequence  $\{\sigma_n(x)\}$  of partial sums of the series (1.6) will be given by

$$C_n^1(x) - f'(x) = \frac{1}{2n\pi} \int_0^\pi \frac{\sin^2 nt/2}{\sin^2 t/2} dg(t)$$

where

$$\sum_{k=0}^{n-1} \frac{\sin(k+1/2)t}{\sin t/2} = \frac{\sin^2 nt/2}{\sin^2 t/2}.$$

For  $0 < \delta < \pi$ , we may have

$$(3.2) \quad C_n^1(x) - f'(x) = \frac{1}{n\pi} \int_0^\delta \frac{\sin^2 nt/2}{t^2} dg(t) + o(1).$$

Following (1.4) for strong  $(E, q)(C, 1)$  summability of the derived Fourier series (1.6), we have

$$(3.3) \quad \begin{aligned} & \sum_{k=1}^n \binom{n}{k} q^{n-k} |C_k^1(x) - f'(x)| \\ &= \frac{2}{\pi} \sum_{k=1}^n \binom{n}{k} q^{n-k} \left| \int_0^\delta \frac{\sin^2 kt/2}{kt^2} dg(t) \right| + o \left[ \sum_{k=1}^n \binom{n}{k} q^{n-k} \right] \\ &\leq \frac{2}{\pi} \int_0^\delta \left[ \sum_{k=1}^n \binom{n}{k} q^{n-k} \left| \frac{\sin^2 kt/2}{kt^2} \right| \right] dg(t) + o[(q+1)^n] \\ &= o \left[ \int_0^\delta \left\{ \sum_{k=1}^n \binom{n}{k} q^{n-k} \left| \frac{\sin^2 kt/2}{kt^2} \right| \right\} dg(t) \right] + o[(q+1)^n]. \end{aligned}$$

Let us write

$$(3.4) \quad I = \int_0^\delta |M_n(t)| dg(t) = \int_0^{1/2} + \int_{1/n}^\delta = I_1 + I_2, \text{ say}$$

where

$$M_n(t) = \sum_{k=1}^n \binom{n}{k} q^{n-k} \left| \frac{\sin^2 kt/2}{kt^2} \right|.$$

In order to prove the theorem, we show that

$$I_1 = o[(q+1)^n] \quad \text{and} \quad I_2 = o[(q+1)^n] \quad \text{an } n \rightarrow \infty, \text{ so that}$$

$$(3.5) \quad I = o[(q+1)^n] \quad \text{an } n \rightarrow \infty.$$

Let us first consider  $I_1$ . Now,

$$(3.6) \quad \begin{aligned} I_1 &= \int_0^{1/n} |M_n(t)| dg(t) \\ &= o[n(q+1)^n] \int_0^{1/n} dg(t) \quad (\text{by Lemma 1}) \end{aligned}$$

$$= o\left[n(q+1)^n\right] o\left[\frac{\alpha(n)}{n\beta(P_n)}\right], \quad (\text{by (1.10)})$$

$$= o\left[(q+1)^n \frac{\alpha(n)}{\beta(P_n)}\right]$$

$$= o\left[(q+1)^n / \log n\right], \quad (\text{using (1.9)})$$

$$= o\left[(q+1)^n\right], \text{ as } n \rightarrow \infty.$$

Next considering  $I_2$  we have

$$\begin{aligned} I_2 &= \int_{1/n}^{\delta} |M_n(t)| |dg(t)| \\ &= o\left[(q+1)^n / n\right] \int_{1/n}^{\delta} |dg(t)| / t^2 \\ &= o\left[(q+1)^n / n\right] \left[ \left\{G(t)/t^2\right\}_{1/n}^{\delta} + 2 \int_{1/n}^{\delta} t^{-3} G(t) dt \right] \\ &= o\left[(q+1)^n / n\right] \left[ \left\{G(\delta)/\delta^2 - n^2 G(1/n)\right\} + O\{G(1/n)\} \cdot 2 \int_{1/n}^{\delta} \frac{dt}{t^3} \right] \\ &= o\left[(q+1)^n\right] - o\left[(q+1)^n \frac{\alpha(n)}{\beta(P_n)}\right] + o\left[\frac{\alpha(n)}{n\beta(P_n)} \frac{(q+1)^n}{n} n^2\right] \\ &= o\left[(q+1)^n\right] - o\left[(q+1)^n\right] + o\left[(q+1)^n\right] \\ &= o\left[(q+1)^n\right], \text{ as } n \rightarrow \infty. \end{aligned}$$

Collecting from (3.3) to (3.7) we get the required results. This completes the proof of the theorem.

## REFERENCES

- [1] K.S. Bhatia and M.P. Sachan, The strong summability of a Fourier series by  $(C,1)$  and  $(E,1)$  means. *Vijnana Parishad Anushandhan Patrika*, **45** (1), (2002), 37-49.
- [2] G.H. Hardy, *Divergent Series*, Oxford at the Clarendon Press (1949).
- [3] G.H. Hardy, and J.E. Littlewood, On strong summability of Fourier series. *Fund. Math.* **25** (1935), 162-189.
- [4] E.C. Titchmarsh, *The Theory of Function*, 2nd. Ed. Oxford University Press (1939).